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(Q1) Generate the 3-Address code of following procedure ;-\.‘[J'Marks 5]
Int dotproduct( int n, int x[}], int y[] )
{
If (n==10)
Return 0;

Else

Int result = x{n] * y[n];

Return (result += dotproduct(n+1, x, )
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(Q3) Consider the following expression and construct a DAG for it [Marks 5]

(Q2) Construct the SLR table, fo

(((+ratay+(ata))+((at+ +a)+(a+a)))

e, o A . .
(Q4 Wfﬁa'f%i_s LALR:.parser? Construct the set of LR(1) items for this grammar: [Marks 5]

C>d

(Q5) Consider the following program code: [Marks 4+4]
Prod=0;
=1,
Do{
Prod=prod+ali]*bfi];



I=i+1;
}while (i<=10);

a. Partition in into blocks
b. Construct the flow graph

(Q6) (a) Is shift / shift conflict also possible in LR(0)? Justify your answer with proper reason.[Marks 2]
(b) Describe input buffering scheme in lexical analyzer. [Marks 2]
(¢ )What is Recursive Descent parsing? List the problems faced in designing such a parser,

[Marks 2]
(d) What are annotated parse trees? Give examples. [Marks 1]




